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41- Mary has become a big girl. She is ......... up fast .

1) getting 2) growing 3) looking 4) walking
42- Who wrote that letter? It ......... by a student.

1) is writing 2) is written 3)was writing 4) was written

43- How many days will their visit ......... .

1) past 2) last 3) close 4) leave
44- Plants that grow in the mountains are called .........

1) mountain plants 2) plants mountains

3) mountains plants 4) plant mountains

45- This is the record we ......... .
1) like it much 2) like so much
3) are liking it much 4) are liking so much

46- Thereisnooneto ......... .

1) look after the children 2) care the children

3) take care the children 4) look the children after

47- Do you remember who ......... the Oscar last years?

1) was going to win 2) would win

3) did win 4) won

48- Many sailboats are ......... with small engines for times when there is not enough wind.
1) prepared 2) noticed 3) equipped 4) increased
49- Tobacco companies are always coming up with new ways of ......... people to smoke .
1) predicting 2) providing 3) persuading 4) persisting
50- It was getting hot so I decided to sit ......... .

1) by the fire 2) near the stove

3) in the shade 4) in the sunshine

51- A tungsten or fluorescent light fitting is named:

1)luminance 2)luminarie 3)lamp 4)luminescence

52- Inductance is the property of an electric circuit or device whereby an ........ force is
created by a change of current in it or in a circuit near it.

1)electromotor 2)electromotive 3)electrod 4)electrical
53- Thermo couples and transducers that produce ............ as a function of temperature.
1) Voltage 2) Current

3) Thermal threshold metering 4) Resistance

54- An antenna is a device that ..... electro magnetic energy into space .

1) converts 2) generates

3) receives 4) radiates




Passage I:

The origins of electrical engineering are based on the achievements of such scientific
giants as Ampere, Coulomb, Faraday, Gauss, Henry, Kirchhoff, Maxwell, and Ohm. The
first practical use of their work, in the context of modern electronics, was in the
development of commutations systems. In 1837, Morse demonstrated the telegraph system.
The significant of electric telegraphy was the introduction of an effective method of coding
information into electrical signals. Nearly forty years later, Bell invented the telephone and
introduced a method for coding information as a continuous electrical signal and then
decoding these signals at a receiver. Edison’s invention of the phonograph in 1877
demonstrated that electrical signals could be stored and subsequently recovered.

55- Based on the above passage, which sentence is most likely correct?

1) Commutations systems are a section of modern electronic

2) One of the above scientific (Ampere,Coulomb,...) has developed communication systems
3) Commutations systems is one of the first modern electronic development

4) Development of the modern electronic is based of the above Scientifics

56- Which sentence cannot refer to the above passage?

1) Morse codes represent the first use of digital signals

2) Bells invention was the base of the invention of the phonograph by Edison
3) Gramophone can be considered the first ROM memory

4) Digital electrical coding is before the continuous electrical coding

Passage I1:

System design is a very important engineering discipline. Most systems are either
electronic in nature or contain an electronic subsystem for monitoring and control. In either
case, they are usually designed with a predominant digital component consisting of a
hardware platform which executes software application programs. Hardware / Software co-
design means meeting system-level objectives by exploiting the synergism of hardware and
software through their concurrent design. Co-design problems have different flavors
according to the application domain, implementation technology, and design methodology.
This especial issue addresses hardware / software co-design from different angles. The
practice of hardware and software design has changed rapidly in recent years. Digital
hardware design has become increasingly more similar to software design because of the
use of specialized languages for modeling and synthesis. Current integrated circuits can
incorporate one (or more) processor core(s) and memory array(s) on a single substrate.
These systems on silicon exhibit a sizable amount of embedded software, which provides
flexibility for product evolution and differentiation purposes. Therefore, the skills required
by digital system designers have evolved and must include the ability of balancing hardware
and software.

57- Based on the text, which of the following is true?

1) Analog hardware design has become more similar to software design

2) Specialized languages have been implemented for modeling and synthesis of software
3) Digital design practice is approaching software design

4) There has been no change in the practice of hardware and software design




58- Based on the text, which of the following is true?

1) Digital system designers must learn to balance hardware and software in their designs
2) Embedded software in silicon systems reduces the flexibility for product evolution

3) Less and less software is incorporated in newer system designs

4) A single substrate cannot hold more than one processor core

59- System design is an important discipline in engineering

1) Because nature contains many electronic subsystems for control and monitoring

2) Ever since digital components because predominant

3) Since all electronic systems contain electronic subsystems for control and monitoring
4) Since many systems are either electronic or include electronics for monitoring and control

60- Hardware / software co-design is

1) Concurrent design of hardware and software

2) Concurrent design and implementation of do main

3) Co-design of system level objectives

4) Meeting the design requirements of the application domain
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